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83-K/E — é)zap@ ~/SCIENCE

T, Qenen Bewdnyy / Instructions to the Students :
1. %383 3TE,BYT TR0 LOosNY Fpeomed 035 0T, B3 RITOD WOTIF T
B0ew LY, TN LTD.
Write your eleven digit Register Number on the Question Booklet as

allotted in the admission ticket in the space provided at the top right
corner of this front page.

2. @%@%%Oﬁ&?}g{ 80533@93 PWOFEF TURWT RPTTD (%)G@G) RRTBONG. TOC
T,00070r0s ARI0E QWY BITRTOD  wOWD  TWIFTIY TZOR,
B3 RRATODY, D&, LN B30 20T TOLGRERS.
This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the. Booklet at the time of commencement of

the examination. Check whether all the pages of the Question Booklet ——
are intact.

3. OWODTOT OMR 3z )3, €BN EBRMITYTO.
OMR Sheet will be provided subject-wise separately.

4. B8 @%@@éoﬁw TURTO BRET® éDo"iO:bﬁ%fEd%{ &@O@ZSD@, T8 ARV @%Gﬁmd
DRFODRY, BROOT.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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5.

B8 QRDF 40 BINIR, B BIWHIOIO 1k, 120 TF IR, FR0RT.
() rieds - B Hoas, 1 003 40

(i) DPS - BIRY Fosy, 41 00T 80
(i) =FRE PN - TJ NS Boas, 81 00T 120
g Y S

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(i) Science — Question Numbers 41 to 80

(iii) Social Science — Question Numbers 81 to 120

Byde BFNR WO BOBATW), DR, BINYNR YVBOROFPYDD @I TN T ¢
TO03NT emgdi% 20T @06&355%, 3mw55 emgdﬁé oInRm)Te ajamées 90BN
QUORDY,

Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

TOeF BB/HODY,

eD) @%ﬁ@ﬁg{mﬁd@ﬁo&aod 2.00.

W) 2.00.850°. ( OMR ) RBTY, HE B3Foadnt I0 TROTT LZTHTY
NOTOETLD QCTSONTIE SDASH Kgﬁﬁﬁ# efé% ROCIRT LVZTT 20T %gw:%
QeD/TF) TP RS TIOWOEF T WNT, GVTOIRENR FOFREIF N
Jew' [RW. W) YUTTIIY, Jew@ TRRT [0ed WHTCWRLD BT[FTNY,
0B C3RRTe @571325 713633371%332{ 20.290.630°. ( OMR ) R0¢&3 SRELIDTTO.
VPTOR  ByF "o, 1 208 LUETT ©0d) Fods C BNTY, L..20.8T .
(OMR ) RRBY, 503 C 0 QeD/F) ToC0D RS’ TS T
VTO3RENR B3 BS 20eDTOS 3,3, BOTPREDF N Jes® WL
T3 Foad : 20) @ © O (9B NSTHR =NE))

=%
O O @ O
2)  2.0.650°. ( OMR ) TS0, WITROR)T, BOOIOR)E WF BT W
] %)
RNTLIVTTO.
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During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

WO T3 N 203808 T, BINGTY 3T VRRTY W0BT LVBTNETY, BT 0T
£} S W 9> =l Q™ s 2 <

TOMEIR BOTNTIY, VEBLRMOPIL;

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

%.20.60°. ( OMR ) RPuTY ANOE ZFTY, D, HF ToNe B3R [0ed25TTID

3@—-353@ D& TTLIEBD.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10. TOegp WHR B|ONT TOTT QTEIITO GWFORT %.00.8T°. ( OMR )3 3RATR
B¢ 5TTON STWTIE LTI,

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

11. 35, 50D HR), B3 WRATODY, eRTIT 5259, 5o030F T T 030¢ BRBWIT0.

Rough work can be done in the space provided at the end of the Question

Booklet.

12. TOegp BRBRAILYN TLOTEWT, [RY T TS, TEFF W WTY VI
QAT DT LVTFTENTTY, FOPTI), JFHQIINT.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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41.

42.
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DB 1 WP
Subject : SCIENCE
B2 T,30300T0 TINVR T OTPOF TeFNYR OO, SodNERy JeBTINT.
YN, FOOIRT YWZTHRY, B0 VTR VEBUINTOT 2:.90.65TF. ( OMR ) 03T

BE,8030Q R 7 TH) T2 LRGF ToA0L® BIPROT FOOIRT 5083080
e SRRO: 40 x 1 =40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and shade the correct option in the
OMR Answer Sheet given to you with a black / blue ball point pen.

40 X 1 =40

T, T80T %, 0003 FITW ST 06 FoORF IV TR FTT

(A) DI, T EIT (B) DTWT &oc3T?

(€ 53553536 WRCETDT (D) @Zﬁ%@s eTJe)aSﬁs

The device that works on the principle of electromagnetic induction is
(A) electric generator (B) electric heater

(C) electric motor (D) electric fan

30 Q TR TROTIE WOTD WW,TOET W 6 Q d@eqﬁw@{ TROQTO
TOBTRTY, AT, 9V 3 ?Sa;-:g%mzﬁi 83,3 TOTOZ WReBIINT. BOOBLOTY
B)BEAIGTOT 2k, DT, T, 0%

AWM —> ®
6Q 30Q
I mn I
K
—1[1]1]t ®- (o)—
9V =
A) 4A (B) 36A
(C) 0.25A (D) 0.6 A
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An electric lamp whose resistance is 30 Q and a conductor of 6 Q
resistance are connected in series to 9V battery as shown in the figure.

The total current flowing in the circuit is

AW >

6Q 30 Q
I mn I
K
—{ 1] 1] 1]t -® (o)
ooy - *
(A) 4A (B) 36 A
(C) 0.25A (D) 0.6 A

43. m’@dﬁoﬁps u@mﬁ% 6@2&9@@5&2{ WO FTED AT
(A) zﬁ%ﬁg{ %, SFORZT (B) m’@dz%dsamfs% Fe00), e80RT T

(C) 398 HROODTR) IFNWIF (D) e, TDTIY, ORI

The inner wall of the solar cooker is painted black because this
(A) reflects light (B) converges solar radiations

(C) prevents from rusting (D) absorbs more heat

44, QWU S FoBNTFY, WIROT SRew

(A) =, onext (B) &onx;
(C) B (D) 3R,e00300

The metal used in the filament of an electric bulb is
(A) manganese (B) tungsten

(C) nickel (D) chromium
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45.

46.

47.

83-K/E ( RF/RR/PF/PR/NSR/NSPR )
T332, T3 ©300TITTT 03030 ROTILOITY, F90TFET, BY, STONITHN €08 T

BT DB T, SLT00 WISHMITYTO

(A) QT m@ﬁ@mm@ (B) 20T mgma%

(C) rF BSRREY (D) e 10w RIRRILY

A rectangular coil of copper wire is rotated in a magnetic field. The
direction of the induced current changes once in each

(A) two revolutions (B) one revolution

(C) half revolution (D) one-fourth revolution

2,003 SRRTT FONBOTRTY + 0°50 m STI TRRTT AWOF,F WO O
(A) +2°0 D 080 Qe TORRT (B) +2°0 D 02 Q33 WOART

(C) —2°0 D 03 I3 WRRT (D) —2°0 D &0 eI RORAT

The focal length of a lens is + 0.50 m. The power of the lens and type are
(A) + 2.0 D and convex lens (B) + 2.0 D and concave lens

(C) -2.0D and concave lens (D) -2.0 D and convex lens

DT, TBOOBOTY, zjiraezse'sagL WTTOCWTL) WSROR TS

(A) igpe@;ébae&scs (B) ©qew0t

(C) méoaﬁfaeme@soe (D) Ooifaemwws

A device used to change the resistance in the electric circuit is

(A) voltmeter (B) ammeter

(C) galvanometer (D) rheostat

7 of 24



83-K/E ( RF/RR/PF/PR/NSR/NSPR )

48.

49.

20T ;‘iraefmaﬁs;& WHPNTEY. 590860 WOTENF ARI008T ATLTeadNTos
TS, %163%6 FTED ﬁmﬁmoj:;s WHTPNTE_ 5908368,y

(A) ©3 03 aémwf\dagd (B) NBFTRTHNTOZT

(@) ﬂ.@é{oﬁmﬁd@d (D) @@s?@mwﬁod YVOENTOZT
The magnetic field lines inside a solenoid are in the form of parallel
straight lines. The reason for this is, the magnetic field inside the solenoid
is

(A) very high (B) uniform

(C) =zero (D) produced by electric current
20T 5#955%{ Qe WITRTT &, PS8 IONRD Fy 302D Q)E%GOC_S) O 1Y IRH

QOATIN YLOERMO ) SWOWT BLIT I8 T8,
(A) 0, JeT [BY BRBHNTT

(B) =%, BIFLMOT =08) WFWNTIZT

(C) 0T, BSFFMOT 0B WEWINTIZTI

(D) =3, ISHIT W3 TRBEAIT

The nature and the size of the image formed when an object is kept

between the principal focus F1 and optical centre O of a convex lens are

(A) virtual, erect and enlarged
(B) real, inverted and small size
(C) wvirtual, inverted and small size

(D) real, inverted and enlarged
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50.

S1.

52.
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QT T*BE 00T, 0I008,F T 03N TOBEFROT TTT
(A) DT, T EIT (B) =°08ne3

(C) 537%@,@@5 (D) é)mg@smemcs

The device that converts electrical energy into mechanical energy is
(A) electric generator (B) solar cell

(C) dry cell (D)
T OWIT VTT SI DFRRTDNT

electric motor

(A)  DT,T* DF00ST (B) Tnen
(C) DT Bowm (D) ébzﬁaesmﬁes
‘Ohm’ is the SI unit of
(A) electric potential difference (B) resistance
(C) electric current (D) electric charge
SN 5@(’@"’&553& N0 ¢
ga;,m?p;do &3, quw'&':f.@&?; oF

P 1-52

Q 144

R 2:42

S 1-33

CIR T)W,[/RFTOTY, LTS Sent 5,08 T, ?

(A) Q

€ S

(B)
(D)

P

R
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53.

Observe the following table :

Material medium Refractive index
P 1.52
Q 1.44
R 2.42
S 1.33

In which material medium the speed of light is very high ?
(A) ©Q (B) P

€ S (D) R
mgéqeo&racs é’,DZSJé@s 3,03395000309), 33 03 S

(A) mgégojo DTHT 3,00

(B) Q008,28 ITZHeS mase;;oja DTP 8,030

(C) &TOFE 3,03

(D) FR,ELC3 TNOS 8,03

The source of energy in nuclear power reactor is
(A) nuclear fission reaction

(B) controlled nuclear fission chain reaction

(C) exothermic reaction

(D) nuclear fusion reaction
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55.
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33 FINTRNTE), 263 TORATT 2,083 NI, QT

(A) TIPS 3TN, 28e0l, e80T0BT

(B) ©0wNYY TTTON 3, T, BN
(C) =, WY T TSRO, YVOLOTRBITT

(D) OIS, FHTNT, T, B, BHFONTOTT

One property of a convex lens among the following is that, it
(A) diverges the light rays

(B) is thicker at the edges and thinner at the middle

(C) forms real and erect image

(D) is thinner at the edges and thicker at the middle

533, W) BID,MNIORT W BErATER OB W) T WIS BRET

Sleleweby
(A)  ©©0,0000 e:séN & (B) @ow0,3 e.-séN &
(C) 3FVHT s = (D) Ae@odd0 &3 =

A compound that reacts with both acids as well as bases to produce salts

and water is
(A) aluminium oxide (B) copper oxide

(C) iron oxide (D) sodium oxide
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56.

57.

T, €T, O TUTOARE,

H H H H H o0
(A) H—(I:—(I:—é:—OH (B) H—é)—(ll—y)—OH
honon b
N o
(C) H—(Ii—(|3—0=0 (D) H—(lj—ﬁ—(I:—H
H H H O H

The structural formula of propanal is

H H H H H o
(A) H—(IZ—(ID—EJ—OH (B) H—(ll—(ll—y)—OH
Hon o
Lo ooy
(©) H—?—?—C=O (D) H_?_ﬁ_(l:_H
H H H O H

HORONY TN BRYNY TTBIERd F0a3, 0% BBWIFRecD PYTToWSFINED. " 3

QOBTIBI, T, ST OATIHT
(A)  SR0T° (B) RdomSexm®
(C) Teewdo? (D) Y, RBReX

“Properties of elements are a periodic function of their atomic number.”

This law was proposed by
(A) Newlands (B) Mendeleev

(C) Dobereiner (D) Henry Moseley
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59.

83-K/E ( RF/RR/PF/PR/NSR/NSPR )
B3 FENT ToTo030VT @Oi)ﬁ%f&l N0 :
Fe + CuSO, — FeSO,+ Cu
Zn + FeSO,— ZnSO,+ Fe

31 06O 8, 0DNFOTHT SRETNY 8,033 ewFedd VLECL 3

(A) Zn > Fe > Cu (B) Fe>Cu>Zn
(C) Zn > Cu > Fe (D) Cu>Fe>Zn

Observe the following chemical reactions :

Fe + CuSO, — FeSO,+ Cu

Zn + FeSO4—> ZnSO4+ Fe

The decreasing order of reactivity of the metals in the above reactions is
(A) Zn >Fe > Cu B) Fe>Cu>Zn

(C) Zn>Cu>Fe (D) Cu >Fe>Zn

20030 POBINT TTRIVED 730&3?5 20 SNT. BSTOVT SwIFT iraeaejﬁdq 9T SwSE
xo&%

(A) 2 (B) 8

(C) 4 (D) 3

The atomic number of an element is 20. In the modern periodic table, this

element belongs to the period
(A) 2 (B) 8

(C) 4 (D) 3
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60. 20TV WOLET® L5800 TLFOIYTOT DBOFNL 0B Quopny méﬁas 3,530%00N
(A) 39 B) 9023
(C) 606 D) 7025

The numbers of single bonds and double bonds present in a structure of

benzene molecule respectively are

(A) 3and9 (B) 9and 3
(C) 6and6 (D) 7and 5
61. RRERODO THIRFIEW TTOT  F[ER,BR0T  CeREA0OR  [EFATIN
WTONTBOTINMO €SI
(A) TWFS FuE & (B) Feinews Fwi &
(C) THER R (D) 3Reox*

The gas liberated when sodium carbonate reacts with dilute hydrochloric

acid is
(A) carbon dioxide (B) nitrogen dioxide
(C) hydrogen (D) chlorine

62. RO JANFTT IO (CNG ) T T3 L
(A) e e’ (B) 333e3°
(C) QoeT3ess (D) =P, eeS®
The major component of compressed natural gas is
(A) butane (B) ethane

(C) methane (D) propane
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63.

64.

65.

83-K/E ( RF/RR/PF/PR/NSR/NSPR )
Qe OWF* FoNTBTIY FoR) wsaméé WTUOUITIT TR
(A)  ROEYTI YT (B) 20T QeTd

(C) RAeRod0 Zw,d & w9 (D) wWIT T

g
The substance that converts blue litmus paper into red colour is
(A) lime water (B) pure water

(C) sodium hydroxide solution (D) gastric juice

dreea 3 @ STOTONTTY, BInY @%N JETEIYN TOTSF LD VTO3RENTOT

58,05
(A) FoROQF (B) BOOXC0DE
(C) ©TTRF (D) T, QS

The process used to convert sulphide ores of metals into their oxides is
(A) calcination (B) roasting

(C) reduction (D) electrolysis

T3 e* WOTY R BRLTE I NYTES AOTNT,; WEIRRT,
(A) C,H (B) C Hy,

(C) Ce¢Hyy (D) C H,,

The common molecular formula of both hexene and cyclohexane is

(A) C,H, B) C¢H,,

(C) CgHyy D) CgHyyg
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66.

67.

68.

2008 NBT ST WBRDF ZATOTYTON &3,
(A)  DTZREWT B3 (B) =597 =y

(C) RAET 8 (D) @3 SEvel

An acid present in the stinging hair of nettle plant leaves is
(A) methanoic acid (B) oxalic acid

(C) citric acid (D) lactic acid
BRIBI  FDTY, UL BT, Fperden' W YT 303D
38,0300, D088 To[Rer

(A)  ERRATH (B) @&39F
(C) 0o (D) Foots

The hormone that regulates carbohydrate, protein and fat metabolism in

the human body is
(A) Testosterone (B) Adrenaline

(C) Insulin (D) Thyroxin

BRFODOZTOT  WEWDTIB  BOT/ITY, WO FZL  ERERODY,  ABWSRNT.
GVOCIETOT H0eedT w%oﬁmodaﬁg{ ©TT BeR oY) OBNYTTNR QORTNITT.
RRFFOD dse@;ﬁ@ GVOO30E T F0eeats WO LIFBT BRI LPMOZT. AW

(A) TORROIBTIRORIF S (B) T8 R[S
(C) MOTITIROTSFS (D) REODSF

A pot that has growing seedling is kept in a dark room. A burning candle is
placed near it for a few days. The top part of the seedling bends towards

the light of burning candle. This is
(A) Chemotropism (B) Phototropism

(C) Geotropism (D) Hydrotropism
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69.

70.
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%08 QFPEITD [RINOT FOWOHATOZ RNYA, FOOINT TePT. 8 T[RONED

(A)
(B)
(C)

(D)

TORTBY AHEN TS, eFTEARRITED

TORT BRI 53T Wednon TV, YVOLIB/REITI

%) o

Q0T FPeRFF FTNYY, TITTF TomDOIIFNE To0T,B0ITY, BRI

TORTTY DEPFBO RRoN YVPTOWREITE

The correct statement with respect to biodegradable substances among the

following is these substances

(A)
(B)
(€)

(D)

(A)
(B)
(€)

(D)

undergo recycling naturally in the environment

harm various organisms in the ecosystem

increase the density of harmful chemicals in different trophic levels

remain inert in the environment for a long time

TRIT ¢0NT HOZOIRES 3,035030Q, TOBRVTIT FOCSINT TOST

wmmﬁr, Q3eET, Wew, PR,
Ve, PR, IJeET, wcmm?r
WPe 09, Wew, TOAMRIF, AJesS

wmmjﬁr, QBT PR,0, Wew

The correct sequence found in the process of sexual reproduction in a

flower is

(A) pollination, fertilization, seed, embryo
(B) seed, embryo, fertilization, pollination
(C) embryo, seed, pollination, fertilization
(D) pollination, fertilization, embryo, seed
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71.

72.

73.

QTN W P NG ORI T @@ms& QQAT TRVT ALY WTTTBIY,

VPRI %zcﬁ%é YVTIODBOEBOSRNT
(A) QTTITH (B) 030YE
(C) =0TOWSS (D) 0T emzé_)es

Saving electricity by switching off unnecessary work of lights and fans is

an example of
(A) refuse (B) reduce

(C) reuse (D) repurpose
TOOTOT DRTY WEDES WeRT mﬁaﬁ% ( RRyy ) maﬁd T WS WERT BX, T
(77YY) HRE FOTTENMAPITION F| LePNOY, e0BZ0IRNO WeRnEd

(A)  TOOTIT #OBY TATO WeRNTL  (B) maézs TBY TYD WewNnE

(C) TOOTIT R0BY TYD WemNd (D) maézs B TATO WeWN

If a round green seeded pea plant [ RRyy ] is crossed with wrinkled yellow

seeded pea plant [ 7rYY ], the seeds produced in F1 generation are

(A) round and green seeds (B) wrinkled and yellow seeds

(C) round and yellow seeds (D) wrinkled and green seeds

T3J0TOTRL LONNED

(A)  2.0T3¢ D303 TS BRODT), wwoTse DeFOL FHODFB/IY, VTF LROTES
(B) 2.0T3¢ D303 TS BHODT), T 003D FoOFNFR) ITWF LRITES
(C) OV, Dedod TS TROQT), 2.0t 0eS03 THODFB/IY, VTF LROTS

(D) OV, Dedod T3S TRODTW, AWF, 030D FONFNTFRY, ABFL0TITS
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74.

75.

76.

83-K/E ( RF/RR/PF/PR/NSR/NSPR )

Homologous organs

(A) have same structure and perform same function

(B) have same structure and perform different functions
(C) have different structures and perform same function

(D) have different structures and perform different functions

BRTBS DB DO, WRNNTOT TFBI), ) TOIE, TN TTTFNE

(A)  OTTROINGD (B) SRe0TOSN

(C) T)T? STBHROIND (D) 0GR

<

The blood vessels that carry blood from all parts of the human body to the

heart are
(A) arteries (B) capillaries
(C) pulmonary arteries (D) veins

3% 8,03000) BWRVT AN BT JeTIY, BRTZITOZ
(A)  PRITEES (B) ,SRoFeR=

(C) VAT (D) m’gm@moe‘dw

Plants can get rid of excess of water by this process
(A) Transpiration (B) Photosynthesis

(C) Respiration (D) Translocation

QT TTERESNY 0T, QTS RFoIToT
(&) Bodd, e (B) R

(C) =omne (D) BReST0D
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77.

78.

79.

The gap between two neurons is
(A) dendrite (B) axon

(C) synapse (D) cell body
%3, €953 FDOVOCE TFLIOT FHRETEBOIT, B3 R LIoNes ATON0T JHEITTI

(A) ©S0TP (B) 0T3O

(C) nPednes (D) ®TO30

The embryo gets nutrition from the mother’s blood with the help of a
special part called

(A) Fallopian tube (B) Ovary

(C) Uterus (D) Placenta
RIIDS NOTO 50@?&@@3& 5\@5555@,, VEOTRFEN T M@T@d&%ﬁ@é QW
ROBINT, WRNETIINT

(A)  TORT,DIWEDT ¥ (B) oR3,T0%

(C) QeODFTY (D) =Ww3,3ee3

The common passage for both sperms and urine in human male
reproductive system is

(A) Urethra (B) Ureter

(C) Vas deferens (D) Urinary bladder
33 FINTRNSE), CINRT WOBERCIY, TIINS evmadnenme) ?

(A) 0B OTIY WTOWSE BINRRTS
(B) QT BT RMOR)OY,
(C) RRYnon ), eRon’ T,5eTBI) WHNBITT

(D) AR,B[AFAER SeOBRTY, LTBNTIT
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Which of the following is NOT the advantage of water harvesting
structures ?
(A) Recharge the ground water
(B) Water does not evaporate
(C) Provide breeding grounds for mosquitoes

(D) Provide moisture for vegetation
23eC3ROTO 35’3{ BT 0T @saz;wms% TOODT PN
BMOF ORI, DFOTT, 55y

(A) 3308308030 NOLINEd (B) NOAT MRS

(C) ) MOLANT (D) TRWF® NN

The experiences of an individual during its lifetime cannot be passed on to

its progeny because, they are
(A) inherited traits (B) acquired traits

(C) dominant traits (D) recessive traits
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